CORNER FILLER ASSEMBLY
INSTRUCTION MANUAL

R

0 0
0 0
0 X 0
0 0
0 0 0
0 \\\ 0 \\
2 Q
0 0

0 0

0 0

0

FRONT OF CORNER FILLER

~0l

REAR OF CORNER FILLER

STORE SUPPLY WAREHOUSE, LLC
PHONE : 1-800-823-8887
FAX  :1-800-823-0004

0

WWW.STORESUPPLY.COM




CORNER FILLER ASSEMBLY INSTRUCTION MANUAL
RECOMMENDED TOOLS FOR ASSEMBLY

A
)
/

PHILLIPS SCREW DRIVER

EITHER/OR %
HAMMER (PREFERRED)

RUBBER MALLET

HARDWARE AND MISC. INCLUDED: (PACKAGED IN A BAG)

NOTE: ALL ITEMS ARE SHOWN ACTUAL SIZE: IF YOU ARE NOT SURE WHICH PART IS CORRECT, THEN PLACE
ON TOP OF ITEM BELOW FOR HELP DURING ASSEMBLY.

© ==l

14 EA - 13/4" L CAM LOCK PINS

=

Il EA. - WOOD DOUWELS - 11/8" L

O

4 EA. - SELF-STICKING
COVERS FOR
MINIFIX CAMS

NOTE:

THIS ARROW TIP
MUST POINT TO
THE HOLE FOR ——
CAM LOCK PINS

14 EA 3/4 CAM LOCK CONNECTOR NUTS

M LOCK NUTS MAY ALREADY BE INSERTED INTO PANELS)

& EA - LOCKING SHELF CLIP
WITH SCREW

WWW.STORESUPPLY.COM PAGE 10of 7




CORNER FILLER ASSEMBLY INSTRUCTION MANUAL
PARTS INCLUDED INSIDE CARTON:

2 X
GLASS SHELF

ED
o (-]
O O O O 0O ©O 0O O O 00 O © ©o o

©O ©O ©O O 0O ©O OO0 O O O © © o o

O O O ©O O O O ©O © O © © © © o

I EA.
DECK PANEL

I EA.
RIGHT END PANEL

b O
0
4/ 0

{

I EA.

I EA.
LEFT END PANEL TRIANGLE SUPFPORT
PANEL

I EA.
FRONT PANEL

WWW.STORESUPPLY.COM PAGE 2 of 7




CORNER FILLER ASSEMBLY INSTRUCTION MANUAL
STEP 1: ASSEMBLY TIME APPROXIMATELY 1/2 HOUR

SCREW ONE CAM LOCK PIN INTO EACH OF THE TWO HOLES IN THE MIDDLE OF THE FRONT PANEL AS
INDICATED IN DIAGRAM “1A”. PLACE ONE 3/4" CAM LOCK NUT INTO EACH OF THE TWO HOLES IN THE
FRONT PANEL AND EACH OF THE FOUR HOLES IN THE TRIANGLE SUPPORT PANEL AS INDICATED IN
DIAGRAM“1A” MAKING SURE THE ARROWS ON THE CAMS LOCK NUTS ARE FACING OUTWARD. LINE UP
THE HOLES ON THE RIGHT SIDE OF THE TRIANGLE SUPPORT PANEL WITH THE CAM LOCK PINS ON THE
FRONT PANEL. TIGHTEN THE CAM LOCK NUTS WITH A CLOCKWISE TURN AS INDICATED IN DIAGRAM “1C”
UNTIL PANELS ARE SECURE.

DIAGRAM " A’ DIAGRAM "B’
TRIANGLE SUPPORT
PANEL 0
\ Do
D
0
®
PLEASE NOTE O
FRRONT PANEL THE CAM LOCK NUTS MUST
BE POINTING OUT WITH THE
ARROW TIP TOWARD THE T
HOLE ON THE END EDGE
SEE BELOW v/ﬁgﬂf\
MAKE SURE THAT CAM LOCK PINS \&
AND WOOD DOUWELS ARE IN-LINE

BEFORE PUSHING DECK PANEL
ON END PANEL.

LT
00

SIS CIN

TIGHTEN CAM LOCK NUTBY
TURNING CLOCKUWISE OR
TOWARDS THE FPLUS SIGN

DIAGRAM "1C

WWW.STORESUPPLY.COM PAGE 3 of 7




CORNER FILLER ASSEMBLY INSTRUCTION MANUAL
STEP 2 :
PLACE ONE 3/4” CAM LOCK CONNECTOR NUT INTO EACH OF THE FOUR(4) HOLES IN THE DECK PANEL.
SCREW ONE CAM LOCK PIN INTO EACH OF THE FOUR(4) HOLES AND GENTLY TAP ONE WOODEN
DOWEL INTO EACH OF THE THREE(3) HOLES INDICATED IN DIAGRAM “2A”. LINE UP THE CAM LOCK
PINS AND WOODEN DOWELS WITH THE HOLES ON THE TOP OF THE FRONT PANEL AND TRIANGLE
SUPPORT PANEL AND GENTLY TAP INTO PLACE AS SHOWN IN DIAGRAM “2B". TIGHTEN THE FOUR
CAM LOCK NUTS ON THE FRONT PANEL AND THE TRIANGLE SUPPORT PANEL TO SECURE.

DIAGRAM "2A° DIAGRAM "2B’

Fs

DECK PANEL

g
ol ? @
woop DOLﬁJ‘ELS l
L TRIANGLE SUPPORT
PANEL

|
.

FRONT PANEL

D OO DOUELS ARE M-LINE TIGHTEN CAM LOCK NUT BT
BEFORE PUSHING DECK PANEL TURNING CLOCKUWISE OR

ON END FPANEL. TOWARDS THE PLUS SIGN

WWW.STORESUPPLY.COM PAGE 4 of 7




CORNER FILLER ASSEMBLY INSTRUCTION MANUAL

STEP 3:

SCREW TWO(2) CAM LOCK PINS AND TWO(2) WOODEN DOWELS INTO EACH OF THE HOLES IN THE
LEFT END PANEL AS INDICATED IN DIAGRAM “3A”. LOWER THE ASSEMBLED BASE FROM STEP 2 ON
TOTHE LEFT END PANEL AS SHOWN IN DIAGRAM “3B” MAKING SURE THAT THE CAM LOCK PINS AND
WOODEN DOWELS LINE UP WITH THE HOLES AND CAM LOCK NUTS IN THE LEFT SIDE OF THE DECK
PANEL. GENTLY TAP THE PANELS INTO PLACE AND TIGHTEN THE CAM LOCK NUTS TO SECURE.

DIAGRAM "3A’ DIAGRAM 3B’

BASE ASSEMBLY

TIGHTEN CAM LOCK NUT BY
TURNING CLOCKWISE OR
TOWARDS THE PLUS SIGN

LEFT END PANEL

WWW.STORESUPPLY.COM PAGE 5 of 7




_

CORNER FILLER ASSEMBLY INSTRUCTION MANUAL
STEP 4 :
INSERT THE SIX(6) REMAINING CAM LOCK PINS AND WOODEN DOWELS INTO THE HOLES IN THE
RIGHT SIDE PANEL AS INDICATED IN DIAGRAM “4A”. LINE UP THE CAM LOCK PINS AND WOODEN
DOWELS IN THE RIGHT SIDE PANEL WITH THE HOLES IN THE LEFT SIDE PANEL AND BASE ASSEMBLY AS
INDICATED IN DIAGRAM “4B”. GENTLY TAP THE PANEL INTO PLACE AND TIGHTEN ALL EIGHT OF THE
REMAINING 3/4” CAM LOCK NUTS INDICATED IN DIAGRAM “4C” TO SECURE.

DIAGRAM “4A" DIAGRAM “4B”

CAM LOCK PINS /\ |
\ I

LEFT END PANEL

MAKE SURE THAT CAM LOCK PINS
AND WOOD DOWELS ARE IN-LINE
BEFORE PUSHING DECK PANEL
ON =ND PANEL.

DIAGRAM “4C"

MAKE SURE TO SCREW ALL EIGHT
CAM LOCK NUTS CLOCKWISETO
LOCK END PANEL INTO PLACE \

e,

TIGHTEN CAM LOCK NUTBY
TURNING CLOCKUWISE OR
TOWARDS THE FPLUS SIGN

BOTTOM VIEW

LEFT SIDE VIEW (6) @\ @ 4@1_

WWW.STORESUPPLY.COM PAGE 6 of 7|




CORNER FILLER ASSEMBLY INSTRUCTION MANUAL
STEP 5 :
TURN THE UNIT UPRIGHT. INSERT THREE OF THE LOCKING SHELF CLIPS AT THE DESIRED HEIGHT.
SLIDE ONE OF THE GLASS SHELVES INTO THE CLIPS MOVING FROM LEFT TO RIGHT. ONCE THE SHELF
IS IN PLACE, TIGHTEN THE SCREW ON THE BOTTOM OF EACH OF THE SHELF CLIPS TO SECURE. REPEAT
FOR THE SECOND SHELF AND YOUR UNIT IS COMPLETE.

DIAGRAM "3A’

DIAGRAM "5B’

LOCKING SHELF CLIF Q

\

DIAGRAM "7C” O

ccccc@ccc

s
cc%@ccc
\iy

o
©o o o

cccc‘@ccc

o O O o
/'

WWW.STORESUPPLY.COM PAGE 7of 7




